EDUCATION VERSION - NOT FOR COMMERCIAL USE

o]

TYP BOTH FLANGES

SEE NOTE
TYP BOTH

1
FLANGES

5/8 ANNULUS PIPING PORT

- 72

SEE V049-4-020
FOR MACHINING DETAIL

SEE DETAIL “17

SHEET 2

SEE DETAIL
SHEET 3

SEE DETAIL
SHEET 3

.7

1D,
SEE N

SEE DETAIL
SHEET 3

g

70 0000

| P

SEE NOTE 15
BELOW

SEE DETALL “5°
SHEET 2 !
i
]

SEE DETAIL “4~
SHEET 2

2

SEE DETAIL *3*
SHEET 2

i_

“g-

N

\.\\\\

N

A

e e e

N

s vom rore e v e e e T T T 1 T e e T e v e e o e T e e

40
SEE

SHEET 3

N
~

ey

COMMON_

> V0494BIP17
N

DETAIL “&”

R\O“
@NAME PLATE
TACK WELD

4 CORNERS

:

i
i

i

i

}

|

I

| | SHIPPING COVER

1 | SEE DWG

I | vo49-4-080GSH 72
I 1D

I

i

I

]

i

I

]

1

)

@ =

.25
REF
OTE 9

SEE DETAIL
SHEET 2

pr

5

APPROX

FDOR LEVELING AND GROUTING

//A// ‘,_i

SEE DETAIL "2
SHEET 2

USE BOM NO.S V0494B1 WITH TAG NO'S WB-1A, WB-1B, LB-1B, & LB-1D
USE BOM NOS V0494BIGlI WITH TAG NO'S LB-1A, & LB-1C

—- W

., THE CENTER LINES OF ALL SHELLS AND FLANGES
, LEAK TEST & METHOD PER PSI SPEC. V049-2-014
. CERTIFIED MANUFACTURER’S MATERIAL TEST REPORTS REQUIRED AS NOTED.

. CLEAN PER SPEC' V049-2-015

, FOR FLANGE DETAILS SEE DWG V049-4-020

ITEM | PART NUMBER | SUFFIX UM DESCRIPTION

FLANGE, GROOVED, 72 1/4° 1D X 80 OD

1 V0494020 2 EA

V0494B1P2 1 EA | SHELL, 304/304L SST, 1747 THK

1 25 [ SF [ PLATE, A36, 1 3/8" THK

1 2 SF
EA
28 [FT

PLATE, A36, | 3/8° THK

V049M814 1 1 RING ANGLE, 304 SST 4° X 4° X 1/4°

TUBING, RECT 4° X 4° X 1/2° AS00 GRB

VO49INTSS [ EA | BOLT, S/8-11 UNC X 5 1/2° LG A325

NUT, 5/8-11 UNC. A325
LOCK WASHER, 5/8” STL _~~m v

ANCHOR HILTI HVA 1° DIA x 12 3/8° MIN EMBEDMENT
HAS SUPER ROD

BAR, 4°x3/8°, SST 304

olm|[vw{on|uis|w|m

1

3
VO49M753 3 6 €A
VO49MT73 3 6 |ea

EA

1 V049ME52 3 [ag

12 | eo2678 3 €A | BOLT, SAI193 B7, HEX 7/8-UNCx4°LG

13 202679 3

EA
€A
£A

NUT, SA194 B7, HEX 7/8-UNC

14| 208581 3
15 | Vodomo2o

WASHER, STL, 1 374 DDxi 5716 1D x1/4°THK
O-RING, VITRON (PER SPEC V049-2-045

EA | O-RING, VITRON (PER SPEC V045-2-045)

2
16 V049M021 2
2

17 V0494BIP17 EA | SUPPORT ASSY

18 V049MBR2 1 1 EA | RING ANGLE, 304 SST 4x4xl/2)
EA

EA

19 V0494061 2 3/4- 0D ELBOW x 2 3/4° OD CF

20 V0494080G5H 1 SHIPPING COVER ASSY

21 | V049MT40 1 €A | PSI NAME PLATE

YV049M829 13 FT

!CJBB:HS-!D 2 FT

TS 6x4x1/72" AS00 GRC

BAR, 1 172°x1", A36

V0494680 3 6 EA [ BOLT, 5/8-11 UNCx7 1/2° LG A32S

* ELECTROLESS NICKEL PLATE

ELECTRONIC
COPY

BOM FOR MODIFICATIONS FOR TAG NO'S LB-1A & LB-IC IS VO0494BIGL
USE ITEM NO'S 22, 23, & 24 FOR V0494BIG! ONLY.

THIS VERTICAL LEG TO BE CHANGED TO TS 6°x4"x1/2‘, AS00 GRC, P/N V049M829
TYP. BOTH SIDES OF BEAM MANIFOLD FOR TAG NO LB-1A & LB-1C ONLY

WDS NO'S REFER 70 DATA ey
STRUCTURAL STEEL FABRICATION TO BE IN ACCORDANCE WITH
SPECIFICATION #Vv049-2-039

EACH FINISHED SHELL IS TO BE MARKED WITH A SEQUENTIAL PSI
SERIAL NUMBER THE NUMBER IS TO BE MADE FROM THE DRAWING
PLUS THE SEQUENTIAL NUMBER V0494B1-01, 02 ETC

PLATES PRIOR TO ROLLING MUST HAVE DIAGONAL CORNER

TO CORNER DIMENSIONS WITHIN 1/16" OF EACH OTHER

MACHINING & ROLLING PER SPEC V049-2-136

NOTES:

ARE TO LIE ON THE COMMON CENTER LINE WITHIN +/- 1/16

BOLT HOLES OF ALL FLANGES TO STRADDLE VERTICAL CENTERLINE, +/-015

DO NOT USE CARBON STEEL BRUSHES OR BRUSHES CONTAMINATED
WITH CARBON STEEL DN STAINLESS OR ALUMINUM MATERIAL.

SPOOL FABRICATION TO BE IN ACCORDANCE WITH SPEC V049-2-097

THESE FLANGES EACH INCLUDE AN ANNULAR CHANNEL BETWEEN 0-RINGS,
MANIFOLD TO A SINGLE PUMPOUT PORT ON EACH CHAMBER, SEE DWG V049-4-061

LIGO-D961150-05-y APPROX. WEIGHT: 3528#

THIS DOCUMENT CONTAINS PROPRIETARY

i
INTERNATIONAL INC AND SWALL BE
RETURNED UPON REUEST

SYMBOL CHARACTERISTIC

FLATNESS

CYLINDRICITY

PARALELLISM

PERPENDICULARITY

ANGULARITY

REISSUED FOR LA-PER RFC V049-(78

LD 10/29/97 [ 0565

DINENSIONS ARE IN INCHES

TOLERANCES:
FRACTIONAL £ 1

-

REISSUED FOR FAB/SHIPPING AS NITED

SPIDER| 5/15/97 | 0485 20 WALKUP DR. WESTEOROUGH, MASSACHUSETTS 01581 USA

ARMADH +0°-30° BEND 12
Tw0 PLACE DECIMAL * 03

REISSUED FOR FABRICATION

GS

PV 1ns22s9 | 0180

TMREE PLACE DECDWL £ 0I5
FINISHED SURFACE NS
FREAC CORNERS e

DESIGN UPDATE/ISSUED FOR FAB

‘GS

SPOOL_B-1

PV 10/9/96 [0339

T

DESIGN UPDATE / FABRICATION

(SHELL OMLY)

GS

PV 1071796 (0283

DO NOT SCALE THIS DRAWING

ISSUED FOR FDR

72.25°1D
LIGO VACUUM EQUIPMENT

DA | 4729796 | 0146 TAD FILE 3

DWG NO

DESCRIPTION

DWG NO DESCRIPTION

TRUE POSITION

REFERENCE DRAWINGS

ol¢|N-|xIR|Q

CONCENTRICITY

USED ON

DESCRIPTION

S12€ | DVG ND.
IRYN DATE | DEOK V0494B1/4BIS1 I D V049-4-B1 S

NEXT ASS'Y

ISSUE DESCRIPTION

SCALL

-2 = v sreer 10F 3

Oct 31, 1997 - 084047

S

3



EDUCATION VERSION - NOT FOR COMMERCIAL USE

015 |

~A-

0.25

7225 LD
REF

WELD SEAM

PRI 14 1) P—

l—l 3/8

A |

12
N
crirave 900 ‘"LEIF/Z
ELECTRODE 450
‘ r1 1/2 REF.
! 5
3 TYP C)\ _F_. e?\ f
} l—*'—l 550
L——4——————4 l
& = T 00 14
PLATE &
SUPPORT
N © /| &

P/N C388316-1D

MOUNT PERPENDICULAR
TO BEAM TUBE CENTERLINE
ON BOTTOM OF BASE PLATE

L PLATE &
SUPPORT

#1 1/4 DIA THRU
TYP. 4 PLCS

DETAIL 2”7

A QTY: 2

NOTE ITEM NO 23 IS ONLY REQ'D ON BOM V0424BIG1

WDS 20
120* TYP

WDS 20
60° TYP

OR

V0494B1G1

A

SEE DETAIL *3*

!
]
]
]
]
!
H

SECTI

l 174 2-4 wDS 20
| I 1/4 2-4 120° TYP.

I

|

38 62———1—

REF

!
|
|
|
1

DN //A//__//A//

- f 74 5/8 J
.69 DIA THRU BOTH WALLS
SHELL SEAM WELD DETAIL DETAIL //1// 12 ¢8 S/8 l ‘ 3 PLACES
QTY 1 200 ——1 172 _
MAKE FROM V049M154-1 REF. ‘7 L

b 4 50~ ) -

rl 1/2 REF - - j j - - - - -

: T o, . o
— ® f ® t Le Loa
45°
TYP 450 4.00 —’l — 2
‘{ r~— 400
G - - - e 200 12
P T PLaTE 4 DETAIL “S*
mmmmmmmmmmmmmmmmmmmm SUPPORT QTY: 2
O] &
LB 3. AP PROCESS SYSTEMS INTERNATIONAL INC.
E L ECT R S g [ 20 WALKUP DR WESTBOROUGH, MASSACHUSETTS 01581 USA -
A (% :‘ L'
P PLATE & o1 14 DA THRU TXRY; SPOOL B-1 :
SUPPORT TYP. 4 PLCS PP 72.23" 8
DETAIL ﬁ ] LIGO VACUUM EQUIPMENT .
QTY. 2 w IJ CAD FILE SIZC| DVG. MO, REV g
oS vo4seBizaBis2 | ] V049-4-Bl1 S8
seae AS NOTED Sweet 20F 3 e
) 3 s | 4 3 | 2 1



EDUCATION VERSION - NOT FOR COMMERCIAL USE

DETAIL "o”

aty 1

+006
87281 "ggo ID

SIZE & ROUNDNESS

Psl

ANGLE 4° X 3" X 1/4°
304 SST ROLLED AS SHOWN
WEG IND

PROTECT THIS SURFACE N
DURING FABRICATION

4
REF

3862

+006
872.81 "ggg> LD

SIZE & ROUNDNESS

69 DIA
6 HOLES
C(MATCH DRILL FROM LEG ASSY)

DETAIL "7”

Q1Y 1

ANGLE 4% X 4 X 1/2°
304 SST ROLLED AS SHOWN
(LEG IN>

=

™

‘“
™
o )
f}‘;‘
£
PR
2

WIS 35 78
A
% % :«&w .M‘
i
A
MS _INTERNATI N

REF ” ” 20 WALKUP DR WESTBOROUGH, MASSACHUSETTS 01581 USA _
DETAIL 8" S 2
TYP BOTH ENDS 72.25"1D =
LIGO VACUUM EQUIPMENT N
5
CAD FILE $1ZE{ WG MO REV z
Vo4SeBI/4BIS3 | ] V049-4-B1 %m 3
scue AS NOTED et A3 _.m




